=0 =0
eeka Cam Cam

MNEIKEF~=M3IDIEEIE |, 5% E info@yeekaco.com

©
>
S
S
i

&S : 9100 FERZ&S ;- 9100
19 17
; 17 B79 30
7 ’9 = Q:\
PL 19 LA 3.0 !
< N ! d)( . ™ T Yko":‘ H 3
™ < - 1 51—
@z i I TRz [ f ak=ra i 2
g < 00/ [Te) 1 0 L
N ! &3 — all o N
(- N g N °
0| 0
8 N | 8
=2 | ! ‘ =3
!ﬁ": g 08.2805 | | [18.2505 ! &I BH ﬁ §
&< 3 &<
=TI © | B
< < 25 e ~.\.!‘
I

M.S. zinc plated

i -
% = I o B SN IR B, SN IBAIREE
—J |2 sEm o BERE SR oM e HERE SERI8
| | Il - | oo e Cam type Total Cam offset Max.outer door Ts Cam type Total Cam offset  Max.outer door Ts
5.840s 2-26 5.840s 210 o grip For assembled latch o grip For assembled latch
9100-04H 9100-06H 9100-95H X FRRARABEE ] Bt
mgﬁ] gan?%l;ﬂ 9100-0700 | 15 18 T kil | 9100-0710 | 35 2 7
Rasied 4mm studs FRRSEsE]
b A=EEI N
L=d5 + 2 9100-0701 17 16 e ocoedbg | ©100-0711 | 37 4 7
. 9100-0702 19 14 1 9100-0712 | 39 6 7
L=45£ 2 L=35+2 9100-0703 | 21 12 2 91000713 | 41 8 7
9100-0704 23 10 4 9100-0714 | 43 10 7
9100-0705 25 8 5 9100-0715 | 45 12 7
! ! 9100-0706 27 6 6 9100-0716 | 47 14 7
9100-04H 9100-06H 9100-95H 9100-96H 9100-0707 29 4 7 9100-0717 | 49 16 7
SRYEEE , BIfANEEEN M.S .zinc plated,stainless steel material upon request 9100-0708 31 2 7 9100-0718 51 18 7
9100-0709 33 0 7 9100-0719 | 53 20 7
H=GH+BH
HMEHIS Cam Part #
GH=30 GH=36 GH=40 GH=50 GH=60 i
-16 2 14 20 24 34 44 9100-0402 17 3.0
-14 4 16 22 26 36 46 9100-0404 9100-9504 | 9100-9604 82 3.0 §Tg
-12 6 18 24 28 38 48 9100-0406 | 9100-0606 | 9100-9506 | 9100-9606 ] : - - =
-10 8 20 26 30 40 50 9100-0408 | 9100-0608 | 9100-9508 | 9100-9608 s N1 = < H e
-] . o
-8 10 22 28 32 42 52 9100-0410 | 9100-0610 | 9100-9510 | 9100-9610 <$> - \QO// o
5 13 25 31 35 45 55 9100-0413 | 9100-0613 | 9100-9513 | 9100-9613 o 0 o &N © | N
-4 14 26 32 36 46 56 9100-0414 | 9100-0614 | 9100-9514 | 9100-9614 8w N E T
2 16 28 34 38 48 58 9100-0416 | 9100-0616 | 9100-9516 | 9100-9616 $ i
0 18 30 36 40 50 60 9100-0418 | 9100-0618 | 9100-9518 | 9100-9618 i |
+2 20 32 38 42 52 62 9100-0420 | 9100-0620 | 9100-9520 | 9100-9620 T .I" ! ﬂ
+4 22 34 40 44 54 64 9100-0422 | 9100-0622 | 9100-9522 | 9100-9622 ! B
+6 24 36 42 46 56 66 9100-0424 | 9100-0624 | 9100-9524 | 9100-9624 < =
+7 25 37 43 47 57 67 9100-0425 | 9100-0625 | 9100-9525 | 9100-9625 N @".
PRIEEE NS =
+8 26 38 44 48 58 68 9100-0426 | 9100-0626 | 9100-9526 | 9100-9626 M.S. zinc plated ——
+10 28 40 46 50 60 70 9100-0428 | 9100-0628 | 9100-9528 | 9100-9628 J— Jr——
=3 IRAEE = IRAEE
+12 30 42 48 52 62 72 9100-0430 | 9100-0630 | 9100-9530 | 9100-9630 SRR e ERE BRsE o grEr  mm  BERE BREE o
+14 32 44 50 54 64 74 9100-0432 9100-9532 9100-9632 Cam type Total Cam offset ~ Max.outer door Ts Cam type Total Cam offset ~ Max.outer door Ts
+16 34 46 52 56 66 76 9100-0434 9100-9534 | 9100-9634 i ForGSsembIEatch i ForasembIEatch
———
17 35 47 53 57 67 77 9100-0435 | 9100-0635 | 9100-9535 | 9100-9635 9100-0800 | 15 18 | AERERIH | 91000810 | 35 2 7
+18 36 48 54 58 68 78 9100-0436 9100-9536 | 9100-9636 —
+20 38 50 56 60 70 80 91000433 | 9100-0638 | 9100-9538 | 9100-0638 ot00-0801 | 17 | 16 [ BEREEIE | g1000811 | a7 4 7
+22 40 52 58 62 72 82 9100-0440 | 9100-0640 | 9100-9540 | 9100-9640 91000802 o ” y 91000812 39 5 Z
+24 42 54 60 64 74 84 9100-0442 | 9100-0642 | 9100-9542 | 9100-9642 9100-0803 1 PP > 9100-0813 | 41 8 7
+26 44 56 62 66 76 86 9100-0444 | 9100-0644 | 9100-9544 | 9100-9644 9100-0804 >3 0 2 91000814 | 23 0 7
+27 45 57 63 67 77 87 9100-0445 9100-9545 | 9100-9645 9100-0805 25 8 5 9100-0815 | 45 12 7
+29 47 59 65 69 79 89 9100-0447 9100-9547 9100-9647 9100-0806 27 6 6 9100-0816 47 14 7
+32 50 62 68 72 82 92 9100-0450 9100-9550 9100-9650 9100-0807 29 4 7 9100-0817 49 16 7
+35 53 65 71 75 85 95 9100-0453 9100-0808 31 2 7 9100-0818 | 51 18 7
+37 55 67 73 77 87 97 9100-0455 9100-0809 33 0 7 9100-0819 | 53 20 7

To get product 3D models freely, Please contact info@yeekaco.com

b

S
1]



yeeka == yeeka

FmES) 0 9100 FeERERSl o 9100

1772 26mm
stroke 26mm

B

Index

B4ZR%1
Accessories

hMEL  TESEBH
9100-4501-8800 88 0

PRI
M.S. zinc plated

& 20
i S H 3
< |
Ve S
. Ak o | T
= i SIRT T N | 4@ ™ M.S. zinc plated
v M.S. zinc plated :
_!ﬁ": 3 | H I Left A Right
T O : o 1
83 POEL  TEEE '{\ ‘ 0 $ > / i 25 9100-9425L 9100-9425R
Ne T - @ —
9100-2518 25 0 e L % 27 9100-9427L 9100-9427R
9100-2018 20 0 H % 29 9100-9429L 9100-9429R
GH=20|| 4 31 9100-9431L 9100-9431R
= =
o g
PRI
Stpes M.S. zinc plated
M.S. zinc plated 90 °F5FLEUHSELIET 9100-3618A
FUMEL  $FEEE BH 45 AT EIET 9100-3618B
9100-4901-6002 60 2 90 *HFLETEIGIETIRL | 9100-3618C
9100-4901-6314 63 14
9100-4901-7300 73 0
PREEEE
M.S. zinc plated
M.S. zinc plated
FRILME L FE=E BH
E 9100-4902-6012 60 12
o
8‘ 9100-4902-8118 81 18
g 9100-4902-8800 88 0
b
S
S N
£ PREERE
= M.S. zinc plated
]
Ho
Ry
&
i
g PRIEEE <
11 M.S. zinc plated I
L
aﬂz
¥
e
=
£=3
9A-003

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
R



yeeka Koy  Rod yeeka

©
@
S
S
=

N . ~ .
! 75 £d '
52.0 PN S& 165
3 ! & 3| !
| 1 D> 1
9 - - 1 | = _i_ 1 A} ol 9%
1 |
S K 34 : ! | ! ﬁl %S
m £ | el sl ] [ s m £
o ! ! .
g et 1N . ! i i ! | -
. o | : | | |
» 1 1 1 1 (2]
Q | \ . | | @
=5 o | 09.9 | ! | | — | 4
N @ ~ p 1 1 NG &
‘-H: 8 = . 1 ! ! 1 N aa :H: Q
=0 ~— | 1 1 =8
2 213£0.15 | | £2
=< Hido ! : - =<
— : — | 1 : | |
L=80 L=55 n ! J g | |
/\ + : ~ i : ! !
g %‘& |J 1 1 1
FHRLEREKey Code ' & 29" 28 || : | | :
= 3 Q [ : ! ! , I I
:‘.T 1 &4 l I 1 | | 1 $ |
o8 0O | o) ' .
_ ~ 1 | | 1 ¢Q)rl
7975 8mm =f8mm IEBEMm | : | | ' P
Square 8mm Triangular 8mm Double bit 5mm ! !
g 9 I , | _i_ , 4 | A B C
I 1 1 -
HES , BEE RESE ) ] . ' .
Zinc die,black powder coated or bright chrome A ﬂ Version A ! B ﬁ! Version B ! C ﬁ! Version C
o KE L=80mm KE L=70mm KE L=55mm
$HRLREY Key type = = = = = = N .
AR =5 GREEE = L) =5 =y A =y A
Black powder coated  Bright chrome  Black powder coated ~ Bright chrome Black powder coated = Bright chrome 1 1
- - 165 X0 Nylonroller < ' Nylon roller NS
I8 Double Bit 5mm 9200-80-015-20 | 9200-80-015-30 | 9200-70-015-20 | 9200-70-015-30 | 9200-55-015-20 | 9200-55-015-30 75 oY cb\ ' H=235285 ®
19 ! . =23.5/28.
=£A 8mmTriangular 8mm | 9200-80-038-20 | 9200-80-038-30 | 9200-70-038-20 |9200-70-038-30 | 9200-55-038-20 | 9200-55-038-30 T ! H:I] ] : H r
_ ! -
PU75 8mmSquare 8mm | 9200-80-048-20 | 9200-80-048-30 | 9200-70-048-20 |9200-70-048-30 | 9200-55-048-20 | 9200-55-048-30 L 1 : :Il
1
o . = . L
™ 1 1 i
1 1
1 1
5 ! !
@8 : '
1 1
- — L : : /
S =— 1 1 _—
] - ! S Bl
I 1 ~ = 1 5 £
— 1 1 °
8 T ! ! | S
I 1 1
' ' 1 D g
1 1 | X
1 1 (]
c 1 1 °>-"
1
5 - = | o ﬂ 9
) 1 1 -—
g q pol : : o -
= 18 I : RaS : -+ E
P 1.8 g M~ ! N O ! o~ | LO)| S
@ I 4 : © i ' © - s
R | !
2 - ! 14 ! R o
o= 1 1 (2}
= D B! Version D ' 7 Versi ' _ s
i I = : E Z= Version E i F BY Version F (H=23.5) =
* .
&= G B Version G (H=28.5) =
=3 [<}]
- 5 AR VersionA B E! VersionB C & Version C D & VersionD E & Version E F & Version F G & Version G .,qh_’
i 2
2 400 9301-A-0400 | 9301-B-0400 | 9301-C-0400 | 9301-D-0400 | 9301-E-0400 | 9301-F-0400 | 9301-G-0400 e
L 500 9301-A-0500 | 9301-B-0500 | 9301-C-0500 | 9301-D-0500 | 9301-E-0500 | 9301-F-0500 | 9301-G-0500 g
) RIS Key type $ARLZERY Key code #4/R Material a
@ 600 9301-A-0600 | 9301-B-0600 | 9301-C-0600 | 9301-D-0600 | 9301-E-0600 | 9301-F-0600 | 9301-G-0600 2
200- @ Fullb '
5‘: ey YK333 24 Full brass 700 9301-A-0700 | 9301-B-0700 | 9301-C-0700 | 9301-D-0700 | 9301-E-0700 | 9301-F-0700 | 9301-G-0700 S
9200-333PA H74E4ERL PA knob+brass ki =
p ERIAHRIARL PA knob+brass key 800 | 9301-A-0800 | 9301-B-0800 | 9301-C-0800 | 9301-D-0800 | 9301-E-0800 | 9301-F-0800 | 9301-G-0800 : ' o
R - o
ﬁ 9200-751 CH751 £ Full brass 900 9301-A-0900 | 9301-B-0900 | 9301-C-0900 | 9301-D-0900 | 9301-E-0900 | 9301-F-0900 | 9301-G-0900 E E/G -
I _ = o
= 9200-2233 Yk2233 £4@ Full brass 1000 | 9301-A-1000 | 9301-B-1000 | 9301-C-1000 | 9301-D-1000 | 9301-E-1000 | 9301-F-1000 | 9301-G-1000 °
9200-101 YK101 2% Full brass 1100 | 9301-A-1100 | 9301-B-1100 | 9301-C-1100 | 9301-D-1100 | 9301-E-1100 | 9301-F-1100 | 9301-G-1100

©
Q
S
S
=



FiHF
Rod

FIFFBAHEF
Rod accesories

yeeka

o . - .
&S 9301 FZEREF 9405, 9401
1, _@15 16
el
w8 w A 283 S
m < 10 @ . m £
2 . IS EEFL600mm o - BN
. . RE— M ) N . i
e . |
2 i Door Height less than 1600mm © AN \> o g
=3 | only have one copper rivet 2
g 8 o\ . . g
g< Py o — &<
® - Vv
" Ny 4
® &o ' |
> 17 A-A
~ N o
~— =< HEe  BERETEN
Zinc die,zinc plated or SUS 304
A Zinc die 54X 316 SUS 316
S S @6 9405-01 9405-01-316
o N RN N N
Nf Nf =l 1# ]
« « 14 3 B2 Rod catch
PREEEE
M.S. zinc plated 25 19
b b EEFF Rods 9 35
["J&RE Door height H & Version H 4 —
Dim. X Dim. Y | =
s | N
800-1200 — 1265 9301-H-126.5 , 2- 265 ot
1200-1600 — 2765 9301-H-276.5 I ~ -
— - - = - N
1600-1900 1015 5265 9301-H-526.5 i | 2125 _
1900-2200 1015 6765 9301-H-676.5 | «©
N N : / Vi ™
12 6.5
975 A 20
l ] 40
HEE, BRER £
Zinc die, black powder coated 8
| 9401-4024 S
£
E I 5
© - L
b £
£ I 5
g - [T 2> g
> N— o
® b 3
k] L/ o
= @
b S ] 2
H =
=== . >
. i D 3
. i \L/ =
s :
* o
L N 6 £
g FRIEEE 24.2 =)
o M.S. zinc plated °
{'f 11.2 S
37, AEA 124634 =
mlb 315 Had, BEE PA EHH 3
AN L) . . . .
Zinc die, black powder coated, black PA clamping pin o
X X 5 Verslon X 185 | 9301-X-185-0400 | 9301-X-185-0500 | 9301-X-185-0600 | 9301-X-185-0700 | 9301-X-185-0800 | 9301-X-185-0900 | 9301-X-185-1000 | 9301-X-18.5-1100 <
i ersion
'ﬂ.g A | 225 | 9301-X-225-0400 | 9301-X-225-0500 | 9301-X-225-0600 | 9301-X-225-0700 | 9301-X-225-0800 | 9301-X-22.5-0900 | 9301-X-225-1000 | 9301-X-225-1100 9401-4025 2’
=3 [
275 | 9301-X-27.5-0400 | 9301-X-27.50500 | 9301-X-27.5-0600 | 9301-X-275-0700 | 9301-X-27.5-0800 | 9301-X-27.5-0900 | 9301-X-27.5-1000 | 9301-X-27.5-1100
9C-002 9D-001




FLFFBEHF SHEIf
y EEka Rod accesories Rod guide

Sl ;9401 FamESl ;9401
125
X 4 X
m S . 020 % S
m < | | m <
< L\ ¥/\
[ee]
2 | fy—s 18
8 y | % 8
= s ! & © o T )d; < = g
NG & I3 V/b( | NG @
H [0} + (0]
[ M9
L ) | 28]
! \p 228
\S)
2
HEE , B
Zinc die,zinc plated
ElPA
|
44 30 9401-4430
275 , 38 25 9401-3825
23 5'?7 32 20 9401-3220
8
i )
p | C ®
‘ f = , 6.3 125 4
© A BY Version A I I |
| ‘ | 1 FB M6x16 B 6x20 (SR ERE ‘ © ‘ Pt
= \ For weld stud M6x16 or M6x20 = ! o
“ | 36 R 77»\}/ s | e,
" & = ‘
6 4 ‘ el
115 E
26 1JJ.4
HES , BER . . 21.5
Zinl?: die, black powder coated &?ﬁ%ﬂlflf;é
| Strap can be broke off
) 21
5 14.4

8
E LIRS = m3DIEELE |, {BEX R info@yeekaco.com

B & Version B

[EE{4 Rod catch FA M5x12 fRSiBiElE { e
For weld stud M5x12 N

— B 1 Cim “jT
54|

8l

9

-9
N

10 R10
| L
S
- _ N é
Or g 3[4 “Or & 9
2265 : Y g I < C & Version C
! ! 25401 |75
212.4X90 ° (2X) 01 |T. o« X
\otzew g =~0) | ®
HES  BUEE 2 PA B[ Black PA rod guide 2

{B$¥ zinc plated 9401-4026-01 B &l Version B 9401-2518
AR Black Textured Powder Coated 9401-4026-20 C B Version C 9401-2622C

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
3
w«



EAS,
Nut

FERES ;9501

B=
Index

BEFZR%1
Accessories

©
m
E LIRS = m3DIEELE |, {BEX R info@yeekaco.com

M16
3
0.69
o I
SK
0.5
0.69
M19
<
&
|
M22

27

HAERZEE Material

35

27.41

M22X1.5
M16 M19 —
THE-AEEIN | AEES | TNEEREER
$#&% Zinc die casting 9501-M1901 | 9501-M220101 | 9501-M220102 | 9501-M220103
£4 Full brass 9501-M1602 | 9501-M1902

BN Stainless steel

9501-M2202

Bt

Accesories

FEBES ;9501

yeeka

24

/B Small size

BT FLAY 22.5x20.1 RS ESUETER RS SUETEFET
For cutout 22.5x20.1 Pull tap perpendicular to cam Pull tab in-line with cam
; RS
2222 égy
: D
) >
= ((\ )
S| Af ‘ jA &
: \LN =
\.l Q o
2. o
|.28_ [\G, ~
w
33
30.5 * v
| o ‘—,¢ J o “.L J
T 11 o | o | N
t 2 1 3 " I gT N I g?
i 4 421 A 421
@ A-A
885} PA
TEFFLEY22.5X20.1 For cutout 22.5X20.1 9501-4702
YRS SHESETAT IEFRFLE13.5X016 9501-4704-1
Pull tab in-line with cam For cutout 13.5X216
RS EHERMER EFFLE3.5XD16 0501-4704-2
Pull tap perpendicular to cam For cutout 13.5X216
KA Large size
1ERTFFLEY 22.5x20.1
For cutout 22.5x20.1

ERTFILE 16x135 pui - o
For cutout 16x13.5 A
T 21 1
~
|
: — 0
o~ | | l 2}
= 221.5 @97
KA Large size 9401-4101
/B Small size 9401-4102

v o @ o

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
S

B
Index

F4ZR%1
Accessories



eeka Accesorios yeeka

FERES : 9606

B

Index

BHEZRF
Accessories

IRt —FEZIRL

MNEIKEF~=M3IDIEEIE |, 5% E info@yeekaco.com

©
\n
S
S
=

H
| —
55
<_
©
=
$REESE M.S. zine plated
HBLHME Screw size 2L Screw size
9601-M506 M5 X 6 9601-M606 M6 X 6
9601-M508 M5 X 8 9601-M608 M6 X 8
9601-M510 M5 X 10 9601-M610 M6 X 10
9601-M512 M5 X 12 9601-M612 M6 X 12
9601-M516 M5 X 16 9601-M616 M6 X 16
9601-M518 M5 X 18 9601-M618 M6 X 18
D1
2D2 2D3
-t
-
_ _ = |
o~ I
T /.|\
—
4 .
' |
t_! 4| |
N 1
n ' > b4
2@D4
PRIEEE
M.S. zinc plated
L H1 H2 $ D1 D2 $D3 éDd Wi
9606-M8 15 33.3 17 32.6 20 6.3 16 8
9606-M10 18 415 21 41 25 8 20 10
9606-M12 22 51 26 50 30 10 25 12
9606-M16 27 60 30 60 35 12.5 30 16
9606-M20 30 71 85} 72 4 16 85 20
9606-M22 34 84 43 81 44 18 40 22
9606-M24 38 90 45 90 50 20 45 24
9606-M30 45 110 55 110 60 25 60 30
9606-M36 55 131.5 65 133 70 31.5 70 36

B

Index

To get product 3D models freely, Please contact info@yeekaco.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

